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Completely analyze the following function. Be sure to write “NONE” if this function does not have a

(x¥1)(x-2)

Consider the function f (x)= szi;fe 5— ()() —é._‘j(/)(—/ f( ) X‘# L

1. Give the ordered pairs representlng the intercepts.
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a. (1 point) x-intercept:

characteristic listed below.

b. (1 point) y-intercept: ( 0/ g >

2. Write the lines representing the vertical and horizontal asymptotes.
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b. (2 points) Horizontal asymptote(s):

3. (8 points) Find the critical numbers for f .
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4. (3 points) Run the test for(increaiing/decreasing intervals. i
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(2 points) f is increasing on NO NE'
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. (2 points) Give the ordered pairs where relative minima occur.

NONE

. (2 points) Give the ordered pairs where relative maxima occur.

NONE

5. Test for concavity and find any points of inflection.
a. (15 points) Run the test for concavity.
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f(x) =2
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b. (2 points) f is concave upwards on

c. (2 points) f is concave downwards on (ﬁ w; FZ’) U ('H Z, 5 >

d. (2 points) Give the ordered pairs which represent points of inflection.

NONE

6. (4 points) Sketch the graph, using the information from your analysis. Find additional ordered
pairs as needed. Be sure to label your axes and write in the scale.
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